Extractive Sector Transparency Measures Act - Annual Report



Reporting Entity Name			AbraPla	ta Resource Corp			ABRAPLAT
Reporting Year	From	2018-01-01	To:	2018-12-31	Date submitted	2020-08-25	
Reporting Entity ESTMA Identification Number	E562286		Original SubmiAmended Repo				
Other Subsidiaries Included (optional field)		Huayra Minerals (Corp.; AbraPlata Arç	gentina S.A. and Pa	cRim Mining Argentina	S.A	
Not Consolidated							
Not Substituted							
Attestation by Reporting Entity							
In accordance with the requirements of the ESTMA, and in pa Based on my knowledge, and having exercised reasonable di for the reporting year listed above.					•	- · · · · ·	
Full Name of Director or Officer of Reporting Entity		Carlos	Pinglo				
Position Title		CFO and Corpo			Date	2020-08-24	

			Ext	ractive Sector	Transparency	Measures Act - A	Innual Report				
Reporting Year Reporting Entity Name Reporting Entity ESTMA Identification Number Subsidiary Reporting Entities (if necessary)	From:		To: AbraPlata Resource Corp E562286	2018-12-31		Currency of the Report	CAD				
					Payments b	y Payee					
Country	Payee Name ¹	Departments, Agency, etc within Payee that Received Payments ²	Taxes	Royalties	Fees	Production Entitlements	Bonuses	Dividends	Infrastructure Improvement Payments	Total Amount paid to Payee	Notes ³⁴
Argentina	Provincia de Mendoza	Direccion General de Rentas Provincia de Mendoza			333					333	9,216 Argentinian Pesos converted at 0.03611
Argentina	Provincia de Salta	Fondo Especial de Promocion Minera			8,096					8,096	224,194 Argentinian Pesos converted at 0.03611
Argentina	Provincia de Catamarca	Juzgado Electoral y de Minas de Catamarca			717					717	19,860 Argentinian Pesos converted at 0.03611
Additional Notes:											

Extractive Sector Transparency Measures Act - Annual Report Reporting Year From: To: 2018-01-01

Reporting Entity Name Reporting Entity ESTMA Identification Number AbraPlata Resource Corp E562286

2018-12-31

Currency of the Report CAD

Subsidiary Reporting Entities (if necessary)

Payments by Project

Country	Project Name ¹	Taxes	Royalties	Fees	Production Entitlements	Bonuses	Dividends	Infrastructure Improvement Payments	Total Amount paid by Project	Notes ²³
Argentina	Cerro Amarillo			333					333	9,216 Argentinian Pesos Converted at 0.03611
Argentina	Diablillos			5,506					5,506	152,470 Argentinian Pesos Converted at 0.03611
Argentina	Samenta			3,307					3,307	91,584 Argentinian Pesos Converted at 0.03611

Extractive Sector Transparency Measures Act - Annual Report											
Reporting Year Reporting Entity Name Reporting Entity ESTMA Identification Number Subsidiary Reporting Entities (if necessary)	From:	2018-01-01	To: AbraPlata Resource Corp E562286	2018-12-31		Currency of the Report	CAD				
					Payments by Project						
Country	Project Name ¹	Taxes	Royalties	Fees	Production Entitlements	Bonuses	Dividends	Infrastructure Improvement Payments	Total Amount paid by Project	Notes ²³	
Additional Notes ³ :											